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1 Introduction

1.1 Objectives

2 EMes 2015 287 AZEQI{ZEINE £l Team T57t 7HY Bt Network Printing
System (NPS)Z Unit Testing 3t7| {I8t A& 2 CtF 1 QICt Team T5 7+ 2§t Unit Testing=

a5t 7| 215+04 Testing Pass/Fail CriteriaS 2 2|5t 0|E 85t 7| QI8 Test Design & Test
Case £ Holftrt.

1.2 Background

£ SASD 7|He

2015 28t7| AZEQ0{ZEIE 2o|M JHEsts ZE NPSS A4S
stCh 7|1sYEE LF50{Z! Unit 2 SRA2 SDS THOHH 25 ™Mo|z|of Qlct.

ol&3atod 7HY

Network Printer System(O|5t NPS)2 UHE®|3 ZEIE AARCEM, AR E£= 2[RIt
HER3 HMHEE S5 HIOIEE 7142 Est= AlA”RO|CH

Unit teste A|lARIZ Tt 2|4 B2 ZEES CHHE SR FHE testO|H, A|lARIS| H&58
iR5te LAEO| LFAME S BHESI=XIE R = Ue 7[22Ql Test approachO|LCt.

1.3  Scope
o HAE EM= NPSQ| unit testE& ™37 I8t ZE A2 ZESECE NPSQ| unit testE
£&5l7| Et XD AR, test approachQF techniquelt ZQZ = 7 4 TIES
HMOo|gtCt NPSQ| unit teste A|IAEIZ FMeHE 2|4 BRQ ZEES AR §tH, 73 E
DEO| QLTAAMNEE UHFS=X|E test °HZP.

1.4  Project plan
1.5  Configuration management plan
1.6  References
NPS SRS Ver 1.0
[2015SE_A][T5]SRA v2.0
[2015SE_A][T5]SDS v1.0
2 Testitems
b NPSE TestingBtCt. SAQH SDOA 2/ 8t 2

Process/Module EHZ Testlng% s>etch Zt IL.:!% B Zstod unitg X|I-Est, X|IHEt UnitE SRAO
BAE LI Ux|5te SEE2 = X| &OIFtCt Testitem CHS A ZEZFE M E|ULCH
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3 Features to be tested

Process/Module B2 21240 £0{2™ 0 &

rr
M

240| L} @ = X| Testing StC}.

< Table 1.1 Test & Process(DFD) 2[AE >

Name

Description

Print Validation Process

MEX7 QIMS 1 A2 OIO|EHE JobQueuedll SE 3=
ZZ N|ALC}H pheF Jonueue7F MAX x| BF2 &I HL L3
= 2X|7 S8 3 238 ™8t}

—

User Creation Process

MEZX IDE MZ User Database0ll SE5t= T2 M|ALC} OFoF

ol0| S&3td= AL D7t EXECHH @ H S HH St
HW Stop Process M CIMB QI EM7F QUCHH QIME SX|5tD ANB2 2
g4 stet.

Wait Refill Ink Addition Process

3o SHUO7|F(STHore &)E S7HAIZ|E
22 daoich Y30 Src}y |2 Y20l gl e
s o

s4te Be + gk

Wait Refill Paper Addition Process

ZX|9| STCh7|F (STl ore &2 =
ZZMAo|Ct 8X[e| SHCH7|E D 8K|of 34 &Eo| #
PAPER_MAX_VALUE = 100 € =& £ Qict. X7

8428 2e & ot

Reset Wait Refill Ink Process

SHS of ZUHL 39| 34 7HZ 9| E 0| INK_MAX_VALUE
=30000| £ W Y3 2| &
ZZMAO]|LCE.

Reset Wait Refill Paper Process

SMS Cf BLHALE 8X[Q] 3 FHEF ol § 0|
PAPER_MAX_VALUE = 1000]| £|%i& [}
EXCH7|FS 7|86t Z2 A A0|CH

Refill Ink Process

U3 0| SHLH7|E 0| UZB 2 Ink Paper State Database|
LI 0| ZFHF S BIAZIE ZEAMAO|CEH B7+EF 39|
ZHEF2 INK_MAX_VALUE = 30002 X 1}& & QiCt ZZ M A
A3 sheo]l Z7HAIZ & Q)= 213 o] #|CHZE2 1000ICk.
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Refill Paper Process 2X|9| SHCH7|E 0| YUEZA 2 Ink Paper State Database0|
X9 TFS BIIAZIE ZEAMAO|CH B7tE 8X(9
T2 PAPER_MAX_VALUE = 1002 Z1H& £ Qich.
ZRMA A BHHO| BIHAIZ £ Q= 2K AlCHZtS
100|C}.

Job Queue Pop JobQueue0i| A CIAHF O|RAE CIO|E{S| QIM7t BF Rt2E|T
L+ F{ofl 2 O|0|E{E JobQueueOil A AtK|A|Z|= Z 2 M|AO|CE

Next Page JobQueued{| A QI4HE 21 Tl O|E{ 2] Z4XH
| 0| X|(current_page)& H7|= A& S st= ZTEAMA0|CH

Decrease amount of Ink Paper JobQueue0i| A Q445 C|O|E{ 7} AFE Tt Y3 2t XIE Ink
Paper State DatabaseOl|l M Rt & A|7|= Z 2 M| AO|C},

Srie e Alds gl

Send Status Process JobQueueZ FE{ JobQueuedl E0{RE= QMG oFE

C|O|E{E (jobs_info) , Ink Paper State Databasei e Y
A3z, A3 ST U7, o X &, X ST

CHZ| Ec',”(current_ink, wait_refill_ink, current_paper, wait_refill_paper)
£ 2tol M LCD_Interface2 £ IHALCt.

Network Rx Interface HESXIZ OO|EE EotA Q15 ZE 2 ME st
ZZMA0|Ct.

rr

4  Features not to be tested

O|H HAEE UnitdZ TI&st2 2 ™A Systemdt 2HEAE AFEE Testing SHX| o =Ct £t
Er&5| OOl E MY stD o ALE 0| EXHSIXIE ZEMAES TI™ASHK| et=Ct.

Name Description

LCD Interface View Process 0|A{ &F2 O|O|E{E LCDE ™&Strt.

View Controller NPS2| Cl|O|E{ & Clientf| H| E'd<= /L= Send Status
ProcessE trigger Al7|= Z2M|AO|C}H

5 Approach

Network Printing System2| Test Code £ Cygwin + gcc 230 M Team T57} &% =448t Unit
Test Framework 2 Z4E|o{ AZEICE Program Source Code 2F Test Code Q| B8 L £ A&
X|&XoZ S8 Test 8Ch 2 ZZMA HZ (process_name)_unit_test LH0l X EIAEE 2|8t
IAEES Test Case0 2} ZHAdtCt
6 Item pass/fail criteria

Functional Test Pass/Fail Criteria : Zt Process/Module 2 2 A& 2 BHE3HoF 8tC}.

7  Unit test design specification

7.1 Test design specification identifier
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7.2  Features to be tested
7.3  Approach refinements
7.4  Test identification
Identifier Feature Valid/Invalid Value Expected Output
NPS UTC Wait Refill Ink Addition Valid. db->wait_refill_ink_
1000_000 Process current_ink_value = 0, value ==
wait_refill_ink_value = 0
process->trigger(0)
NPS UTC Wait Refill Ink Addition Invalid. db->wait_refill_ink
1000_001 Process current_ink_value =0, value ==
wait_refill_ink_value = 0
process->trigger(-10)
NPS UTC Wait Refill Ink Addition Valid db->wait_refill_ink_
1000_002 Process current_ink_value = 0, value == MAX
wait_refill_ink_value =0
process->trigger(MAX)
NPS UTC Wait Refill Ink Addition Valid db->wait_refill_ink_
1000_003 Process current_ink_value =0, value == MAX
wait_refill_ink_value = 0
process->trigger(5000)
NPS UTC Wait Refill Ink Addition Valid db->wait_refill_ink_
1000_004 Process current_ink_value = 0, value == 10

wait_refill_ink_value =0
process->trigger(10)
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NPS UTC Wait Refill Ink Addition Valid db->wait_refill_ink_
1000_005 Process current_ink_value =0, value == MAX/2
wait_refill_ink_value = MAX /2
process->trigger(0)
NPS UTC Wait Refill Ink Addition Invalid db->wait_refill_ink_
1000_006 Process current_ink_value =0, value == MAX/2
wait_refill_ink_value = MAX/ 2
process->trigger(-10)
NPS UTC Wait Refill Ink Addition Valid db->wait_refill_ink_
1000_007 Process current_ink_value = 0, value == MAX
wait_refill_ink_value = MAX /2
process->trigger(MAX)
NPS UTC Wait Refill Ink Addition Valid db->wait_refill_ink_
1000_008 Process current_ink_value =0, value == MAX
wait_refill_ink_value = MAX /2
process->trigger(5000)
NPS UTC Wait Refill Ink Addition Valid db->wait_refill_ink_
1000_009 Process current_ink_value =0, value == MAX/2 +
wait_refill_ink_value = MAX /2 10
process->trigger(10)
NPS UTC Wait Refill Ink Addition Valid db->wait_refill_ink_
1000_010 Process current_ink_value =0, value == MAX
wait_refill_ink_value = MAX
process->trigger(0)
NPS UTC Wait Refill Ink Addition Invalid db->wait_refill_ink_
1000_011 Process current_ink_value = 0, value == MAX
wait_refill_ink_value = MAX
process->trigger(-10)
NPS UTC Wait Refill Ink Addition Valid db->wait_refill_ink_
1000_012 Process current_ink_value =0, value == MAX
wait_refill_ink_value = MAX
process->trigger(MAX)
NPS UTC Wait Refill Ink Addition Valid db->wait_refill_ink_
1000_013 Process current_ink_value =0, value == MAX
wait_refill_ink_value = MAX
process->trigger(5000)
NPS UTC Wait Refill Ink Addition Valid db->wait_refill_ink_
1000_014 Process current_ink_value =0, value == MAX
wait_refill_ink_value = MAX
process->trigger(10)
NPS UTC Wait Refill Ink Addition Valid. db->wait_refill_ink_
1000_015 Process current_ink_value = MAX/ 2, value ==
wait_refill_ink_value =0
process->trigger(0)
NPS UTC Wait Refill Ink Addition Invalid. db->wait_refill_ink_
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1000_016 Process current_ink_value = MAX/ 2, value ==
wait_refill_ink_value = 0
process->trigger(-10)
NPS UTC Wait Refill Ink Addition Valid db->wait_refill_ink_
1000_017 Process current_ink_value = MAX /2, value == MAX /2
wait_refill_ink_value = 0
process->trigger(MAX)
NPS UTC Wait Refill Ink Addition Valid db->wait_refill_ink_
1000_018 Process current_ink_value = MAX/ 2, value == MAX / 2
wait_refill_ink_value =0
process->trigger(5000)
NPS UTC Wait Refill Ink Addition Valid db->wait_refill_ink_
1000_019 Process current_ink_value = MAX/ 2, value == 10
wait_refill_ink_value = 0
process->trigger(10)
NPS UTC Wait Refill Ink Addition Valid db->wait_refill_ink_
1000_020 Process current_ink_value = MAX/ 2, value == MAX/ 2
wait_refill_ink_value = MAX /2
process->trigger(0)
NPS UTC Wait Refill Ink Addition Invalid db->wait_refill_ink_
1000_021 Process current_ink_value = MAX/ 2, value == MAX /2
wait_refill_ink_value = MAX /2
process->trigger(-10)
NPS UTC Wait Refill Ink Addition Valid db->wait_refill_ink_
1000_022 Process current_ink_value = MAX/ 2, value == MAX/ 2
wait_refill_ink_value = MAX /2
process->trigger(MAX)
NPS UTC Wait Refill Ink Addition Valid db->wait_refill_ink_
1000_023 Process current_ink_value = MAX / 2, value == MAX / 2
wait_refill_ink_value = MAX /2
process->trigger(5000)
NPS UTC Wait Refill Ink Addition Valid db->wait_refill_ink_
1000_024 Process current_ink_value = MAX/ 2, value == MAX/ 2
wait_refill_ink_value = MAX /2
process->trigger(10)
NPS UTC Wait Refill Ink Addition Valid db->wait_refill_ink_
1000_025 Process current_ink_value = MAX/ 2, value == MAX /2
wait_refill_ink_value = MAX
process->trigger(0)
NPS UTC Wait Refill Ink Addition Invalid db->wait_refill_ink_
1000_026 Process current_ink_value = MAX/ 2, value == MAX / 2
wait_refill_ink_value = MAX
process->trigger(-10)
NPS UTC Wait Refill Ink Addition Valid db->wait_refill_ink_
1000_027 Process current_ink_value = MAX / 2, value == MAX / 2
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wait_refill_ink_value = MAX
process->trigger(MAX)

wait_refill_ink_value = MAX /2

NPS UTC Wait Refill Ink Addition Valid db->wait_refill_ink_
1000_028 Process current_ink_value = MAX/ 2, value == MAX/ 2
wait_refill_ink_value = MAX
process->trigger(5000)
NPS UTC Wait Refill Ink Addition Valid db->wait_refill_ink_
1000_029 Process current_ink_value = MAX/ 2, value == MAX / 2
wait_refill_ink_value = MAX
process->trigger(10)
NPS UTC Wait Refill Ink Addition Valid. db->wait_refill_ink_
1000_030 Process current_ink_value = MAX, value ==
wait_refill_ink_value = 0
process->trigger(0)
NPS UTC Wait Refill Ink Addition Invalid. db->wait_refill_ink__
1000_031 Process current_ink_value = MAX, value ==
wait_refill_ink_value = 0
process->trigger(-10)
NPS UTC Wait Refill Ink Addition Valid db->wait_refill_ink_
1000_032 Process current_ink_value = MAX, value ==
wait_refill_ink_value =0
process->trigger(MAX)
NPS UTC Wait Refill Ink Addition Valid db->wait_refill_ink_
1000_033 Process current_ink_value = MAX, value ==
wait_refill_ink_value = 0
process->trigger(5000)
NPS UTC Wait Refill Ink Addition Valid db->wait_refill_ink_
1000_034 Process current_ink_value = MAX, value ==
wait_refill_ink_value = 0
process->trigger(10)
NPS UTC Wait Refill Ink Addition Valid db->wait_refill_ink__
1000_035 Process current_ink_value = MAX, value ==
wait_refill_ink_value = MAX /2
process->trigger(0)
NPS UTC Wait Refill Ink Addition Invalid db->wait_refill_ink_
1000_036 Process current_ink_value = MAX, value ==
wait_refill_ink_value = MAX /2
process->trigger(-10)
NPS UTC Wait Refill Ink Addition Valid db->wait_refill_ink_
1000_037 Process current_ink_value = MAX, value ==
wait_refill_ink_value = MAX /2
process->trigger(MAX);
NPS UTC Wait Refill Ink Addition Valid db->wait_refill_ink_
1000_038 Process current_ink_value = MAX, value ==
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process->trigger(5000)

wait_refill_paper_value =0
process->trigger(10)

NPS UTC Wait Refill Ink Addition Valid db->wait_refill_ink_
1000_039 Process current_ink_value = MAX, value ==
wait_refill_ink_value = MAX/ 2
process->trigger(10)
NPS UTC Wait Refill Ink Addition Valid db->wait_refill_ink_
1000_040 Process current_ink_value = MAX, value ==
wait_refill_ink_value = MAX
process->trigger(0)
NPS UTC Wait Refill Ink Addition Invalid db->wait_refill_ink_
1000_041 Process current_ink_value = MAX, value ==
wait_refill_ink_value = MAX
process->trigger(-10)
NPS UTC Wait Refill Ink Addition Valid db->wait_refill_ink_
1000_042 Process current_ink_value = MAX, value ==
wait_refill_ink_value = MAX
process->trigger(MAX)
NPS UTC Wait Refill Ink Addition Valid db->wait_refill_ink_
1000_043 Process current_ink_value = MAX, value ==
wait_refill_ink_value = MAX
process->trigger(5000)
NPS UTC Wait Refill Ink Addition Valid db->wait_refill_ink_
1000_044 Process current_ink_value = MAX, value ==
wait_refill_ink_value = MAX
process->trigger(10)
NPS UTC Wait Refill Paper Valid db->wait_refill_pap
1000_045 Addition Process current_paper_value =0, er_value ==
wait_refill_paper_value =0
process->trigger(0)
NPS UTC Wait Refill Paper InValid db->wait_refill_pap
1000_046 Addition Process current_paper_value =0, er_value ==
wait_refill_paper_value =0
process->trigger(-10)
NPS UTC Wait Refill Paper Valid db->wait_refill_pap
1000_047 Addition Process current_paper_value =0, er_value == MAX
wait_refill_paper_value =0
process->trigger(MAX)
NPS UTC Wait Refill Paper Valid db->wait_refill_pap
1000_048 Addition Process current_paper_value =0, er_value == MAX
wait_refill_paper_value =0
process->trigger(5000)
NPS UTC Wait Refill Paper Valid db->wait_refill_pap
1000_049 Addition Process current_paper_value =0, er_value == 10
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NPS UTC Wait Refill Paper Valid db->wait_refill_pap
1000_050 Addition Process current_paper_value =0, er_value == MAX /
wait_refill_paper_value = MAX/2 | 2
process->trigger(0)
NPS UTC Wait Refill Paper InValid db->wait_refill_pap
1000_051 Addition Process current_paper_value =0, er_value == MAX/
wait_refill_paper_value = MAX/2 | 2
process->trigger(-10)
NPS UTC Wait Refill Paper Valid db->wait_refill_pap
1000_052 Addition Process current_paper_value =0, er_value == MAX
wait_refill_paper_value = MAX/2
process->trigger(MAX)
NPS UTC Wait Refill Paper Valid db->wait_refill_pap
1000_053 Addition Process current_paper_value =0, er_value == MAX
wait_refill_paper_value = MAX/2
process->trigger(5000)
NPS UTC Wait Refill Paper Valid db->wait_refill_pap
1000_054 Addition Process current_paper_value =0, er_value == MAX
wait_refill_paper_value = MAX/2
process->trigger(10)
NPS UTC Wait Refill Paper Valid db->wait_refill_pap
1000_055 Addition Process current_paper_value =0, er_value == MAX
wait_refill_paper_value = MAX
process->trigger(0)
NPS UTC Wait Refill Paper InValid db->wait_refill_pap
1000_056 Addition Process current_paper_value =0, er_value == MAX
wait_refill_paper_value = MAX
process->trigger(-10)
NPS UTC Wait Refill Paper Valid db->wait_refill_pap
1000_057 Addition Process current_paper_value =0, er_value == MAX
wait_refill_paper_value = MAX
process->trigger(MAX)
NPS UTC Wait Refill Paper Valid db->wait_refill_pap
1000_058 Addition Process current_paper_value =0, er_value == MAX
wait_refill_paper_value = MAX
process->trigger(5000)
NPS UTC Wait Refill Paper Valid db->wait_refill_pap
1000_059 Addition Process current_paper_value =0, er_value == MAX
wait_refill_paper_value = MAX
process->trigger(10)
NPS UTC Wait Refill Paper Valid db->wait_refill_pap
1000_060 Addition Process current_paper_value = MAX/2, er_value ==
wait_refill_paper_value =0
process->trigger(0)
NPS UTC Wait Refill Paper InValid db->wait_refill_pap
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1000_061 Addition Process current_paper_value = MAX/2, er_value ==
wait_refill_paper_value =0
process->trigger(-10)

NPS UTC Wait Refill Paper Valid db->wait_refill_pap

1000_062 Addition Process current_paper_value = MAX/2, er_value == MAX/
wait_refill_paper_value =0 2
process->trigger(MAX)

NPS UTC Wait Refill Paper Valid db->wait_refill_pap

1000_063 Addition Process current_paper_value = MAX/2, er_value == MAX/
wait_refill_paper_value =0 2
process->trigger(5000)

NPS UTC Wait Refill Paper Valid db->wait_refill_pap

1000_064 Addition Process current_paper_value = MAX/2, er_value == 10
wait_refill_paper_value =0
process->trigger(10)

NPS UTC Wait Refill Paper Valid db->wait_refill_pap

1000_065 Addition Process current_paper_value = MAX/2, er_value == MAX/
wait_refill_paper_value = MAX/2 | 2
process->trigger(0)

NPS UTC Wait Refill Paper InValid db->wait_refill_pap

1000_066 Addition Process current_paper_value = MAX/2, er_value == MAX
wait_refill_paper_value = MAX/2 2
process->trigger(-10)

NPS UTC Wait Refill Paper Valid db->wait_refill_pap

1000_067 Addition Process current_paper_value = MAX/2, er_value == MAX/
wait_refill_paper_value = MAX/2 2
process->trigger(MAX)

NPS UTC Wait Refill Paper Valid db->wait_refill_pap

1000_068 Addition Process current_paper_value = MAX/2, er_value == MAX/
wait_refill_paper_value = MAX/2 | 2
process->trigger(5000)

NPS UTC Wait Refill Paper Valid db->wait_refill_pap

1000_069 Addition Process current_paper_value = MAX/2, er_value == MAX/
wait_refill_paper_value = MAX/2 | 2
process->trigger(10)

NPS UTC Wait Refill Paper Valid db->wait_refill_pap

1000_070 Addition Process current_paper_value = MAX/2, er_value == MAX
wait_refill_paper_value = MAX 2
process->trigger(0)

NPS UTC Wait Refill Paper InValid db->wait_refill_pap

1000_071 Addition Process current_paper_value = MAX/2, er_value == MAX/
wait_refill_paper_value = MAX 2
process->trigger(-10)

NPS UTC Wait Refill Paper Valid db->wait_refill_pap

1000_072 Addition Process current_paper_value = MAX/2, er_value == MAX/
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wait_refill_paper_value = MAX
process->trigger(MAX)

wait_refill_paper_value = MAX/2

NPS UTC Wait Refill Paper Valid db->wait_refill_pap
1000_073 Addition Process current_paper_value = MAX/2, er_value == MAX/
wait_refill_paper_value = MAX 2
process->trigger(5000)
NPS UTC Wait Refill Paper Valid db->wait_refill_pap
1000_074 Addition Process current_paper_value = MAX/2, er_value == MAX/
wait_refill_paper_value = MAX 2
process->trigger(10)
NPS UTC Wait Refill Paper Valid db->wait_refill_pap
1000_075 Addition Process current_paper_value = MAX, er_value ==
wait_refill_paper_value =0
process->trigger(0)
NPS UTC Wait Refill Paper InValid db->wait_refill_pap
1000_076 Addition Process current_paper_value = MAX, er_value ==
wait_refill_paper_value =0
process->trigger(-10)
NPS UTC Wait Refill Paper Valid db->wait_refill_pap
1000_077 Addition Process current_paper_value = MAX, er_value ==
wait_refill_paper_value =0
process->trigger(MAX)
NPS UTC Wait Refill Paper Valid db->wait_refill_pap
1000_078 Addition Process current_paper_value = MAX, er_value ==
wait_refill_paper_value =0
process->trigger(5000)
NPS UTC Wait Refill Paper Valid db->wait_refill_pap
1000_079 Addition Process current_paper_value = MAX, er_value ==
wait_refill_paper_value =0
process->trigger(10)
NPS UTC Wait Refill Paper Valid db->wait_refill_pap
1000_080 Addition Process current_paper_value = MAX, er_value ==
wait_refill_paper_value = MAX/2
process->trigger(0)
NPS UTC Wait Refill Paper InValid db->wait_refill_pap
1000_081 Addition Process current_paper_value = MAX, er_value ==
wait_refill_paper_value = MAX/2
process->trigger(-10)
NPS UTC Wait Refill Paper Valid db->wait_refill_pap
1000_082 Addition Process current_paper_value = MAX, er_value ==
wait_refill_paper_value = MAX/2
process->trigger(MAX)
NPS UTC Wait Refill Paper Valid db->wait_refill_pap
1000_083 Addition Process current_paper_value = MAX, er_value ==

Class A Team T5




Ver. 1.0

process->trigger(5000)

wait_refill_ink_value = -50

NPS UTC Wait Refill Paper Valid db->wait_refill_pap
1000_084 Addition Process current_paper_value = MAX, er_value ==
wait_refill_paper_value = MAX/2
process->trigger(10)
NPS UTC Wait Refill Paper Valid db->wait_refill_pap
1000_085 Addition Process current_paper_value = MAX, er_value ==
wait_refill_paper_value = MAX
process->trigger(0)
NPS UTC Wait Refill Paper InValid db->wait_refill_pap
1000_086 Addition Process current_paper_value = MAX, er_value ==
wait_refill_paper_value = MAX
process->trigger(-10)
NPS UTC Wait Refill Paper Valid db->wait_refill_pap
1000_087 Addition Process current_paper_value = MAX, er_value ==
wait_refill_paper_value = MAX
process->trigger(MAX)
NPS UTC Wait Refill Paper Valid db->wait_refill_pap
1000_088 Addition Process current_paper_value = MAX, er_value ==
wait_refill_paper_value = MAX
process->trigger(5000)
NPS UTC Wait Refill Paper Valid db->wait_refill_pap
1000_089 Addition Process current_paper_value = MAX, er_value ==
wait_refill_paper_value = MAX
process->trigger(10)
NPS UTC Reset Wait Refill Ink Valid db->wait_refill_ink_
1000_090 Process wait_refill_ink_value = 100 value ==
process->trigger()
NPS UTC Reset Wait Refill Ink Valid db->wait_refill_ink_
1000_091 Process wait_refill_ink_value =0 value ==
process->trigger()
NPS UTC Reset Wait Refill Paper Valid db->wait_refill_pap
1000_092 Process wait_refill_paper_value = 100 er_value ==
process->trigger()
NPS UTC Reset Wait Refill Paper Valid db->wait_refill_pap
1000_093 Process wait_refill_paper_value =0 er_value ==
process->trigger()
NPS UTC Refill Ink Process Valid db->current_ink_va
1000_094 current_ink_value =0 lue ==
wait_refill_ink_value =0
process->trigger()
NPS UTC Refill Ink Process Invalid db->current_ink_va
1000_095 current_ink_value =0 lue ==
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process->trigger()
NPS UTC Refill Ink Process Valid db->current_ink_va
1000_096 current_ink_value =0 lue == 100
wait_refill_ink_value = 100
process->trigger()
NPS UTC Refill Ink Process Valid db->current_ink_va
1000_097 current_ink_value =0 lue == 100
wait_refill_ink_value = 1000
process->trigger()
NPS UTC Refill Ink Process Valid db->current_ink_va
1000_098 current_ink_value =0 lue == 50
wait_refill_ink_value = 50
process->trigger()
NPS UTC Refill Ink Process Valid db->current_ink_va
1000_099 current_ink_value = MAX/2 lue == MAX/2
wait_refill_ink_value = 0
process->trigger()
NPS UTC Refill Ink Process Invalid db->current_ink_va
1000_100 current_ink_value = MAX/2 lue == MAX/2
wait_refill_ink_value = -50
process->trigger()
NPS UTC Refill Ink Process Valid db->current_ink_va
1000_101 current_ink_value = MAX/2 lue == MAX/2 +
wait_refill_ink_value = 100 100
process->trigger()
NPS UTC Refill Ink Process Valid db->current_ink_va
1000_102 current_ink_value = MAX/2 lue == MAX/2 +
wait_refill_ink_value = 1000 100
process->trigger()
NPS UTC Refill Ink Process Valid db->current_ink_va
1000_103 current_ink_value = MAX/2 lue == MAX/2 + 50
wait_refill_ink_value = 50
process->trigger()
NPS UTC Refill Ink Process Valid db->current_ink_va
1000_104 current_ink_value = MAX lue == MAX
wait_refill_ink_value = 0
process->trigger()
NPS UTC Refill Ink Process Invalid db->current_ink_va
1000_105 current_ink_value = MAX lue == MAX
wait_refill_ink_value = -50
process->trigger()
NPS UTC Refill Ink Process Valid db->current_ink_va
1000_106 current_ink_value = MAX lue == MAX
wait_refill_ink_value = 100
process->trigger()
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NPS UTC Refill Ink Process Valid db->current_ink_va
1000_107 current_ink_value = MAX lue == MAX
wait_refill_ink_value = 1000
process->trigger()
NPS UTC Refill Ink Process Valid db->current_ink_va
1000_108 current_ink_value = MAX lue == MAX
wait_refill_ink_value = 50
process->trigger()
NPS UTC Refill Paper Process Valid db->current_paper
1000_109 current_paper_value =0 _value ==
wait_refill_paper_value = 0
process->trigger()
NPS UTC Refill Paper Process Invalid db->current_paper
1000_110 current_paper_value =0 _value ==
wait_refill_paper_value = -5
process->trigger()
NPS UTC Refill Paper Process Valid db->current_paper
1000_111 current_paper_value =0 _value == 10
wait_refill_paper_value = 10
process->trigger()
NPS UTC Refill Paper Process Valid db->current_paper
1000_112 current_paper_value =0 _value == 10
wait_refill_paper_value = 1000
process->trigger()
NPS UTC Refill Paper Process Valid db->current_paper
1000_113 current_paper_value =0 _value ==
wait_refill_paper_value =5
process->trigger()
NPS UTC Refill Paper Process Valid db->current_paper
1000_114 current_paper_value = MAX/2 _value == MAX/2
wait_refill_paper_value =0
process->trigger()
NPS UTC Refill Paper Process Invalid db->current_paper
1000_115 current_paper_value = MAX/2 _value == MAX/2
wait_refill_paper_value = -5
process->trigger()
NPS UTC Refill Paper Process Valid db->current_paper
1000_116 current_paper_value = MAX/2 _value == MAX/2 +
wait_refill_paper_value = 10 10
process->trigger()
NPS UTC Refill Paper Process Valid db->current_paper
1000_117 current_paper_value = MAX/2 _value == MAX/ 2
wait_refill_paper_value = 1000 +10
process->trigger()
NPS UTC Refill Paper Process Valid db->current_paper
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current_ink_value =0
wait_ink_value =0

1000_118 current_paper_value = MAX/2 _value == MAX/ 2
wait_refill_paper_value =5 +5
process->trigger()

NPS UT C Refill Paper Process Valid db->current_paper

1000_119 current_paper_value = MAX _value == MAX
wait_refill_paper_value =0
process->trigger()

NPS UTC Refill Paper Process Invalid db->current_paper

1000_120 current_paper_value = MAX _value == MAX
wait_refill_paper_value = -5
process->trigger()

NPS UTC Refill Paper Process Valid db->current_paper

1000_121 current_paper_value = MAX _value == MAX
wait_refill_paper_value = 10
process->trigger()

NPS UTC Refill Paper Process Valid db->current_paper

1000_122 current_paper_value = MAX _value == MAX
wait_refill_paper_value = 1000
process->trigger()

NPS UTC Refill Paper Process Valid db->current_paper

1000_123 current_paper_value = MAX _value == MAX
wait_refill_paper_value = 5
process->trigger()

NPS UTC Virtual Refill Interface FEY EE HAEY info.type == 0 &&

1000_124 Valid info.value == 10
struct RequestRefillinfo info;
int client;
test_buf[] = {0,0,0,0,10};
struct sockaddr_in server;
bzero(&server, sizeof(server));
server.sin_addr.s_addr =
inet_addr("127.0.0.1");

s erver.sin_family = AF_INET,;
server.sin_port = htons(6500);
client = create_test_client();
sendto(client, test_buf, 8, 0,
(struct sockaddr *)&server,
sizeof(server));
info =
interface->get_request_info();
NPS UTC Virtual Refill Controller /IDLE => Wait_Refill_Ink *(db->wait_refill_ink
1000_125 Valid _value) == 2570
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char test_buf[] = {0,0,0,10,10};
sendto(client, test_buf, 8, 0,
(struct sockaddr *)&server,
sizeof(server));
controller->tick();

NPS UTC Virtual Refill Controller //Wait_Refill_Ink => Reill_Ink => *(db->wait_refill_ink
1000_126 Wait_refill_Ink _value) == 2370
Valid &&
*(db->current_ink_v
for(i = 0;i<21; i++) alue) == 200
{
controller->tick();
}
NPS UTC Virtual Refill Controller //Wait_Refill_Ink => ... => IDLE *(db->wait_refill_ink
1000_127 Valid _value) == 0 &&
*(db->current_ink_v
while(*(db->wait_refill_ink_value)) | alue) == 2570
{
controller->tick();
}
NPS UTC Virtual Refill Controller /NDLE => Wait_Refill_Paper *(db->wait_refill_pa
1000_128 Valid per_value) == 60)
current_paper_value =0
wait_paper_value =0
char test_buf[] = {1,0,0,0,60};
sendto(client, test_buf, 8, 0,
(struct sockaddr *)&server,
sizeof(server));
controller->tick();
NPS UTC Virtual Refill Controller //Wait_Refill_Ink => Reill_Ink => *(db->wait_refill_pa
1000_129 Wait_refill_Ink per_value) == 40
Valid &&
*(db->current_pape
for(inti=0;i<21;i++) r_value) == 20
{
controller->tick();
}
NPS UTC Virtual Refill Controller [/Wait_Refill_Paper => ... => *(db->wait_refill_pa
1000_130 IDLE per_value) == 0 &&
Valid *(db->current_pape
r_value) == 60
while(*(db->wait_refill_paper_val
ue))
{
controller->tick();
}
NPS UTC H/W Stop Process *JobQueue7t H|01R\= AL ¥/ /I T2 MATF
2000_000 Valid At S3EX| efotok
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/

JobQueue->jobs_info[0].job_id =
-1

/ljob_id=-1 B
HIo1JUS
JobQueue->jobs_info[0].state = 0

Job_info7}

process->trigger()

ghCt.
test_jobs_info.state

NPS UTC
2000_001

H/W Stop Process

PFRIMBO|HLE CH7 1B 1B R/
Valid
JobQueue->jobs_info[0].job_id =
1;

JobQueue->jobs_info[0].state =
0;

process->trigger()

rge &s
test_jobs_info.state

NPS UTC
2000_002

H/W Stop Process

PR ARBS el R

Valid
JobQueue->jobs_info[0].job_id =
1

JobQueue->jobs_info[0].state = 1
process->trigger()

test_jobs_info.state

NPS UTC
2000_003

H/W Stop Interface

IIhw_stop & EI|AE
Valid
test_buf[0] = 1

sendto(csock, test_buf, 1, 0,
(struct sockaddr *)&sa,
sizeof(sa))

output = interface->hw_stop()

output ==

NPS UTC
2000_004

H/W stop Controller

Valid
test_buf[1] = {1}

sendto(csock, test_buf, 1, 0,
(struct sockaddr *)&server,
sizeof(server));
process->tick()

test_jobs_info.state

NPS UTC
3000_000

auth_and_dispatch_contr
oller

I A7 ZEf7LCH7|0|H eIM 2F
mfZlo|& (T8 Alml)

//IZ Ho|HE ZEEZ &1
current_state = ready
packet->length = ~

packet->data = /* 0, 0, test, test,
content:testE E|AE */

current_state == fail_auth ?

NPS UTC
3000_001

auth_and_dispatch_contr
oller

/I 2EIXt HEO| 2 B2

/1 ALt LEALS RE7E 2
test_packet_data[0] = 2;
user_id = “user0”

user_pw = “pass0”

execute
FailAuthDispatcher
trigger
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current_ink_value = 0;
trigger();

NPS UTC auth_and_dispatch_contr | test packet_data[0] = 0; execute
3001_002 oller user_id = “admin” PrintValidation
user_pw= “admin” Process
/olst HZ! 2H RME Y
NPS UTC auth_and_dispatch_contr | test_packet_data[0] = 1; execute
3000_003 oller RequestToCancelP
rintingProcess
trigger
NPS UTC auth_and_dispatch_contr | test packet_data[0] = 2; execute
3000_004 oller UserCreationProce
ss trigger
NPS UTC auth_and_dispatch_contr | test packet_data[0] = 3; execute
3000_005 oller UserRemovalProce
ss trigger
NPS UTC auth_and_dispatch_contr | test_packet_data[0] = 4; execute
3000_006 oller UserListingProcess
trigger
NPS UTC fail_auth_dispatcher // send_packet2 M|CHE trigger sends
3000_007 SESEI packet
execute trigger
NPS UTC print_validation_process | test_jobs_info[JOB_MAX_SIZE-2
3000_008 ]job_id = -1
_get_empty_job_index() ==
JOB_MAX_SIZE - 2
NPS UTC print_validation_process | // test for get_require_ink _get_require_ink(b
3000_009 char *buf = "Cowabunga uf, 27) == 27
Cowabunga Cowabunga \n";
NPS UTC print_validation_process | // test for get_require_paper _get_require_paper
3000_010 char *buf = (buf, 40) ==
"a\na\na\na\na\na\na\na\na\na\na
\na\na\na\na\na\na\na\na\na\n";
NPS UTC print_validation_process | // Test for res ==
3000_011 get_job_queue_require_ink
res = get_job_queue_require_ink
NPS UTC print_validation_process | // Test for res ==
3000_012 get_job_queue_require_paper
res =
get_job_queue_require_paper
NPS UTC print_validation_process | // Test for trigger res_type ==
3000_013 trigger();
NPS UTC print_validation_process | // Test for trigger res_type ==
3000_014 Y3 B
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"\0\0\0\0\0user3\0\0\0\0\0\0\Opass
3\0\0\0\0\0\0\0\0\0\0\4",
process->trigger(&test_packet,

0);

NPS UTC print_validation_process | // Test for trigger res_type ==
3000 _015 I &R &=
current_paper_value = 0;
trigger();
NPS UTC rquest_to_cancel_printin | // Z3EdmY Zrd x| A test_jobs_info[0].st
3000_016 g_process test_packet.data = ate == REMOVING
"\0\0\0\0\0user0\0\0\0\0\0\0\Opass
0\0\0\0\0\0\0\0\0\O\OA1™,
process->trigger(&test_packet,
0);
NPS UTC rquest_to_cancel_printin | / SR & FA
3000_017 g_process test_packet.data = test_jobs_info[0].jo
"\0\0\0\0\0user1\0\0\0\0\0\0\Opass | b_id == 1 &&
0\0\0\0\0\0\0\0\0\0\0\2",
process->trigger(&test_packet, test_jobs_info[1].jo
0); b_id == 3 &&
test_jobs_info[2].jo
b_id ==4 &&
test_jobs_info[3].jo
b_id ==5 &&
test_jobs_info[4].jo
b_id == -1
NPS UTC rquest_to_cancel_printin | // MR 2Fd F| A
3000 018 g_process test_packet.data = test_jobs_info[0].jo
"\0\0\0\0\0user2\0\0\0\0\0\0\Opass | b_id == 1 &&
2\0\0\0\0\0\0\0\0\0\0\3",
process->trigger(&test_packet, test_jobs_info[1].jo
0); b_id ==2 &&
test_jobs_info[2].jo
b_id ==4 &&
test_jobs_info[3].jo
b_id ==5 &&
test_jobs_info[4].jo
b_|d == .
NPS UTC rquest_to_cancel_printin | // WY ZHQd F|A
3000_019 g_process test_packet.data = test_jobs_info[0].jo

b_id == 1 &&

test_jobs_info[1].jo
b_id ==2 &&

test_jobs_info[2].jo
b_id ==3 &&
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test_jobs_info[3].jo

Valid

test_user.user_id =
"test\0\0\0\0\0\0\0\0"

v_header.nextInfo = &test_user;
test_user.previnfo = &v_header;
test_user.nextinfo = &v_tailer;
v_tailer.previnfo = &test_user;

test_user_packet = {

.data =
"\0\0\0\0\0\0\0\0\0\0\0\0\0\O\O\O\OA
0\0\0\0\0\0\0\0\0\0\0\0test\0\0\O\O\
0\0\0\0scott\0\0\0\0\0\0\0",

Jdength = TYPE_LENGTH +
REQ_ID_LENGTH +
USER_ID_MAX_LENGTH +
USER_PW_MAX_LENGTH +
USER_ID_MAX_LENGTH +
USER_PW_MAX LENGTH,

.sock =0

I3
process->trigger(&test_user_pac
ket);

output =
process->_exist_user("test\0\0\0\

b_id==5&&
test_jobs_info[4].jo
b_id==-1
NPS UTC rquest_to_cancel_printin | // CHAYEHRH 2FQd F[4
3000_020 g_process test_packet.data = test_jobs_info[0].jo
"\0\0\0\0\Ouser4\0\0\0\0\0\0\Opass | b_id == 1 &&
4\0\0\0\0\0\0\0\0\0\0\5",
process->trigger(&test_packet, test_jobs_info[1].jo
0); b id==2&&
test_jobs_info[2].jo
b_id==3&&
test_jobs_info[3].jo
b_id==4 &&
test_jobs_info[4].jo
b_|d == .
NPS UTC user_creation_process Il _exist_user & 7t XS output ==
3000_021 Ha™oz shotLiETt
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0\0\0\0\0")

NPS UTC
3000_022

user_creation_process

/DB X HET}Q
_exist_user &7t X7t ict
MNMCoHZ =3 5H=7}

Valid

v_header.previnfo = NULL;
v_header.nextinfo = &v_tailer;
v_tailer.previnfo = &v_header;
v_tailer.nextInfo = NULL;

test_user_packet = {

.data =
"\0\0\0\0\0\0\0\0\0\0\0\O\O\O\O\O\ON
0\0\0\0\0\0\0\0\0\0\0\Otest\0\O\O\ON
0\0\0\Oscott\0\0\0\0\0\0\O",

Jdength = TYPE_LENGTH +
REQ_ID_LENGTH +
USER_ID_MAX_LENGTH +
USER_PW_MAX_LENGTH +
USER_ID_MAX_LENGTH +
USER_PW_MAX_LENGTH,

.sock =0

3

process->trigger(&test_user_pac
ket);

output =
process->_exist_user("test\0\0\0\
0\0\0\0\0")

output =1
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NPS UTC
3000_023

user_creation_process

/IDBO| X HEIJI U@ &
sH=X|(1)
Valid

test_user.user_id = "test"
test_user2.user_id = "a"
test_user3.user_id ="b"

v_header.nextInfo = &test_user;
test_user.previnfo = &v_header;
test_user.nextinfo = &test_user2;
test_user2.previnfo = &test_user;
test_user2.nextinfo = &test_user3
test_user3.previnfo =
&test_user2

test_user3.nextInfo = &v_tailer;
v_tailer.previnfo = &test_user3;

test_user_packet = {

.data =
"\0\0\0\0\0\0\0\0\O\O\O\O\O\O\O\O\ON
0\0\0\0\0\0\0\0\0\0\0\Otest\0\0\O\ON
0\0\0\0scott\0\0\0\0\0\0\O",

Jdength = TYPE_LENGTH +
REQ_ID LENGTH +
USER ID_MAX LENGTH +
USER PW_MAX LENGTH +
USER ID_MAX_ LENGTH +
USER_PW_MAX_LENGTH,

.sock =0

|3

process->trigger(&test_user_pac
ket);

output =
process->_exist_user("test\0\0\0\
0\0\0\0\0")

output ==

NPS UTC
3000_024

user_creation_process

/DB X HEIJ Jed8 &
3H=X(2)
Valid

test_user.user_id = "test"
test_user2.user_id = "a"
test_user3.user_id ="b"

v_header.nextInfo = &test_user;
test_user2.previnfo = &v_header;
test_user2.nextInfo = &test_user;
test_user.previnfo = &test_userz;
test_user.nextinfo = &test_user3;
test_user3.previnfo = &test_user;
test_user3.nextInfo = &v_tailer;
v_tailer.previnfo = &test_user3;

output ==
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test_user_packet = {

.data =
"\0\0\0\0\0\0\0\0\O\O\O\O\O\O\ONO\ON
0\0\0\0\0\0\0\0\0\0\0\Otest\0\0\0\ON
0\0\0\0scott\0\0\0\0\0\0\O",

Jdength = TYPE_LENGTH +
REQ_ID_LENGTH +
USER_ID_MAX_LENGTH +
USER _PW_MAX LENGTH +
USER ID_MAX LENGTH +
USER_PW_MAX LENGTH,

.sock =0

|3

process->trigger(&test_user_pac
ket);

output =
process->_exist_user(“test\0\0\0\
0\0\0\0\0”)

NPS UTC
3000_025

user_creation_process

/DB X HEIJUE2d &
3H=X((3)
Valid

test_user.user_id = "test"
test_user2.user_id = "a"
test_user3.user_id = "b"

v_header.nextInfo = &test_user2;
test_user2.previnfo = &v_header;
test_user2.nextInfo =
&test_user3;

test_user3.previnfo =

&test user2;

test_user3.nextinfo = &test_user;
test_user.previnfo = &test_user3;
test_user.nextinfo = &v_tailer;
v_tailer.previnfo = &test_user3;

test_user_packet = {

.data =
"\0\0\0\0\0\0\0\0\O\O\O\O\O\ONONO\ON
0\0\0\0\0\0\0\0\0\0\0\Otest\0\0\O\ON
0\0\0\0scott\0\0\0\0\0\0\O",

Jdength = TYPE_LENGTH +
REQ_ID LENGTH +
USER ID_MAX LENGTH +
USER PW_MAX LENGTH +
USER ID_MAX LENGTH +
USER_PW_MAX_ LENGTH,

.sock =0

3

process->trigger(&test_user_pac
ket);

output ==
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output=_exist_user("test\0\0\0\0\0
\0\0\0")) == 1

NPS UTC
3000_026

user_creation_process

/1 DBO| R EEF2 R Xid7t

—
Qe

Valid

v_header.previnfo = NULL;
v_header.nextInfo = &v_tailer;
v_tailer.previnfo = &v_header;
v_tailer.nextInfo = NULL;

test_user_packet = {

.data =
"\0\0\0\0\0\0\0\0\0\0\O\O\0\O\O\O\OA
0\0\0\0\0\0\0\0\0\0\0\0test\0\0\O\O\
0\0\0\0scott\0\0\0\0\0\0\0",

Jength = TYPE_LENGTH +
REQ_ID_LENGTH +
USER_ID_MAX_LENGTH +
USER_PW_MAX_LENGTH +
USER_ID_MAX_LENGTH +
USER_PW_MAX LENGTH,

.sock =0

|3

output =
_exist_user(“test\0\0\0\0\0\0\0\0”)

output ==

NPS UTC
3000_027

user_creation_process

// DBl @2 FXid7t 0[Ol
ol=740
AMTTOT
test_user = {

.user_id =
"test\0\0\0\0\0\0\0\0"
2

v_header.previnfo = NULL;
v_header.nextInfo = &test_user;
test_user.previnfo = &v_header;
test_user.nextinfo = &v_tailer;
v_tailer.previnfo = &test_user;
v_tailer.nextinfo = NULL;
test_user_packet = {

.data =
"\0\0\0\0\0\0\0\0\0\0\O\O\O\O\ONO\ON
0\0\0\0\0\0\0\0\0\0\0\Otest\0\O\O\O\
0\0\0\Oscott\0\0\0\0\0\0\O",

Jength = TYPE_LENGTH +
REQ_ID_LENGTH +
USER_ID_MAX_LENGTH +
USER_PW_MAX_LENGTH +
USER_ID_MAX_LENGTH +
USER_PW_MAX_ LENGTH,

.sock =0

|3

call
NetworkTxInterface
->send_packet ?
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process->trigger(&test_user_pac
ket);

NPS UTC
3000_028

user_listing_process

FEY S HAE Y
Valid
v_header.nextInfo = &v_tailer;
v_tailer.previnfo = &v_header;
EHAE X F7}
for(i=0;i<10;i++){
I T2 =718 (37 )
tmp_usr[i] = (struct UserInfo
*)malloc(sizeof(struct Userinfo));
memset(tmp_usr]i], O,
sizeof(struct UserInfo));
//'1D
memset(buf, 0, 12);
sprintf(buf, "user%d", i);
strepy(tmp_usr[i]->user_id,
buf);
Il PW
memset(buf, 0, 12);
sprintf(buf, "pass%d", i);
strepy(tmp_usr[i]->user_pw,
buf);

I/ Sk~

tmp_Ink =
test_user_database.tailer->previn
fo;

tmp_Ink->nextinfo =
tmp_usrfi];

tmp_usr{i]->previnfo =
tmp_Ink;

tmp_usr[i]->nextinfo =
test_user_database.tailer;

test_user_database.tailer->previn
fo = tmp_usrfi];
}
test_user_packet = {

.data = "\0\0\0\0\0",

Jdength = TYPE_LENGTH +
REQ_ID_LENGTH,

.sock =0

|3

process->trigger(&test_user_pac
ket);

call
NetworkTxInterface
->send_packet ?

NPS UTC
3000_029

user_removal_process

Valid

I BEIAE Z7|3H (44 M 4)
v_header.previnfo = NULL

res ==

Class A Team T5




Ver. 1.0

v_header.nextInfo = &v_tailer
v_tailer.previnfo = &v_header
v_tailer.nextInfo = NULL

IIHAE R 44

test_user = (struct UserInfo
*)malloc(sizeof(struct Userinfo))
strepy(test_user->user_id,

"bill_gates_")
strcpy(test_user->user_pw,
"bill_gates_")

v_header.nextInfo = test_user
test_user->previnfo = &v_header
test_user->nextinfo = &v_tailer
v_tailer.previnfo = test_user;

res = 1;

res &=
Iprocess->_remove_exist_user("s
teve_jobs_"); // §X 0|& 0|
EMsER| eh=Ck.

res &=
process->_remove_user_id_cmp(
"steve_jobs_",
test_user->user_id); // E|AE
FXet Hlmai gt el Tt?

NPS UTC user_removal_process Il EXfstE S ME AA| ((v_header.nextInfo
3000_030 Valid == &v_tailer) &&
start = TYPE_LENGTH + (v_tailer.previnfo
REQ_ID LENGTH + == &v_header)) ==
USER_ID_MAX_LENGTH + 1
USER_PW_MAX_LENGTH,;
p.data = (char*)malloc(start + 12);
strcpy((char*)(p.data + start),
"bill_gates_");
p.length = start+12;
process->trigger(&p);
NPS UTC send_status_process Valid *msg =
4000_000 job_info[0].state = 0 “current_state:
state = 0 (no wait_refill) printing”
char *msg =
process->_transform();
NPS UTC send_status_process Valid *msg =
4000_001 job_info[0].state = 0 “current_state:
state = 1 (wait_refill) waiting”
char *msg =
process->_transform();
NPS UTC send_status_process Valid *msg =
4000_002 job_info[0].state = 1 “currnt_state:
char *msg = removing”
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process->_transform();

for(i = 0; i < 1; i++)
test_jobs_info[i].job_id =i;
test_jobs_info[i].fd = -1;
}
for(i=1;i<JOB_MAX_ SIZE;
i++){
test_jobs_info[i].job_id = -1;
test_jobs_info[i].fd = -1;

NPS UTC send_status_process Valid *msg = “ink: 140"
4000_003 test_ink_value = 140
char *msg =
process->_transform();
NPS UTC send_status_process Valid *msg = “paper: 5”
4000_004 test_paper_value = 5
char *msg =
process->_transform();
NPS UTC decrease_amount_of ink | Valid db->current_ink_va
5000_000 __paper db->current_ink_value = 150; lue==50 &&
db->current_paper_value = 2; db->current_paper
trigger(100); _value == 1;
NPS UTC decrease_amount_of _ink | Invalid db->current_ink_va
5000_001 __paper db->current_ink_value = 150 lue ==
db->current_paper_value =0 db->current_paper
_value ==
trigger(151)
NPS UTC decrease_amount_of _ink | Invalid db->current_ink_va
5000_002 _paper db->current_ink_value =0 lue ==
trigger(-1)
NPS UTC job_queue_pop //JobQueue0i| Ci|O|E{7} 07H boolean ==
5000_003 Valid
for(i = 0; i < JOB_MAX_SIZE;
i++)
test_jobs_info[i].job_id = -1;
test_jobs_info[i].fd = -1;
}
process->trigger();
boolean = 1;
for(i = 0; i < JOB_MAX_SIZE;
i++){
boolean = boolean &&
(test_jobs_info[i].job_id == -1);
}
NPS UTC job_queue_pop //JobQueuedi| CI|O[E{7} 174 boolean ==
5000_004 Valid
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process->trigger();

boolean = 1;
for(i = 0; i < JOB_MAX_SIZE;
i++)X

boolean &=
(test_jobs_info[i].job_id == -1);
}

for(i=0; i< 3; i++)
test_jobs_info[i].job_id =i;
test_jobs_info[i].fd = -1;

}

for(i = 3; i < JOB_MAX_SIZE;

i++)
test_jobs_info[i].job_id = -1;
test_jobs_info[i].fd = -1;

process->trigger();

boolean = 1;
for(i = 0; i < 2; i++)

boolean &=
(test_jobs_info[i].job_id == i+1);

NPS UTC job_queue_pop /l1JobQueuedi| CI|O[E{7} 274 boolean ==
5000_005 Valid
for(i = 0; i < 2; i++)
test_jobs_info[i].job_id =i;
test_jobs_info[i].fd = -1;
}
for(i = 2; i < JOB_MAX_SIZE;
i++){
test_jobs_info[i].job_id = -1;
test_jobs_info[i].fd = -1;
}
process->trigger();
boolean = 1;
for(i=0;i<1;i++X
boolean &=
(test_jobs_info[i].job_id == i+1);
}
for(i = 1; i < JOB_MAX_SIZE;
i++){
boolean &=
(test_jobs_info[i].job_id == -1);
}
NPS UTC job_queue_pop /JobQueue0i| CI|O|E{7} 374 boolean ==
5000_006 Valid
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}
for(i = 2; i < JOB_MAX_SIZE;
i++){

boolean &=
(test_jobs_info[i].job_id == -1);
}

NPS UTC
5000_007

job_queue_pop

//JobQueuei| Ci|O[E{7} 474

for(i=0;i<4;i++)
test_jobs_info[i].job_id =i;
test_jobs_info[i].fd = -1;

}

for(i = 4; i < JOB_MAX_SIZE;

i++)Y
test_jobs_info[i].job_id = -1;
test_jobs_info[i].fd = -1;

}

process->trigger();

boolean = 1;
for(i = 0; i < 3; i++)

boolean &=
(test_jobs_info[i].job_id == i+1);
}
for(i = 3; i < JOB_MAX_SIZE;
i++)

boolean &=
(test_jobs_info[i].job_id == -1);
}

boolean ==

NPS UTC
5000_008

job_queue_pop

/IJobQueuedi| H|O|E{7} 57H

for(i=0; i< 5; i++)
test_jobs_info[i].job_id =i;
test_jobs_info[i].fd = -1;

}

process->trigger();

boolean = 1;
for(i=0;i<4;i++)

boolean &=
(test_jobs_info[i].job_id == i+1);
}
for(i = 4; i < JOB_MAX_SIZE;
i++){

boolean &=
(test_jobs_info[i].job_id == -1);
}

boolean ==

NPS UTC
5000_009

save_print_result

print_test(“test, “test”, 0);

buf == output

NPS UTC
5000_010

save_print_result

str = “testtest.....” // 32}
print_test(str, str[30X}], 0);

buf == output
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NPS UTC
5000_011

save_print_result

str = “a\na\na....” // 12&
print_test(str, str[10&], 0);

buf == output

NPS UTC
5000_012

next_page

Valid

test_jobs_info[0].current_page =
0
trigger()

test_jobs_info[0].cu
rrent_page ==

NPS UTC
5000_013

printing_controller

//IDLE there is no job

/l[don't call any function ?7?
Valid
test_jobs_info[0].job_id = -1;

controller->tick();

for(i = 0; i < 20; i++)
controller->tick();

controller->tick();

I(call any function)
??

NPS UTC
5000_014

printing_controller

//\DLE -> job_ready -> Printing ->

job_ready

/lcall Decrease amount, Save

Print result, Next Page ??

Valid

test_jobs_info[0].job_id = 0;
controller->tick();
for(i = 0; i < 20; i++)

controller->tick();

controller->tick();

call
decrease_amount_
ink_paper,
save_print_result,
next_page ??

NPS UTC
5000_015

printing_controller

/ljob_ready -> System_Wait ->
job_ready

//\(call Decrease amount, Save
Print result, Next Page) ??

Valid

test_wait_ink_value =1
controller->tick();

I(call any function)
?”?

NPS UTC
5000_016

printing_controller

/ljob_ready -> end_job -> IDLE
/lcall job_queue_pop ??

Valid

test_wait_ink_value = 0
test_jobs_info[0].current_page =
test_jobs_info[0].total_page
controller->tick();
controller->tick();

call job_queue_pop

NPS UTC

printing_controller

//IDLE -> job_ready -> end_job ->
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5000_017 IDLE
Valid
test_wait_ink_value =0
cont

7.5 Feature pass/fail criteria

NPSQ| Z 2ZE2 SRAM Ho|L|of = LTAE(REY, S&)2 ZF BtEsfof st Zt
Z2MA9l °"<E4 2l S%H2 SRAQ| Process description &= 2! State Transition Diagram2

KI‘X oH:l-

8  Unit test case specification

8.1  Test case specification identifier
Test identification0fl Z 0| HA|

8.2 Testitems
Test identification0d] Z-0| HA|

8.3 Input specifications
Test identification0l ZF 0| HA|

8.4  Output specifications
Test identification0i| ZH O] TWA|

9  Testing tasks

Task Predecessor Special Skills Effort Finish Date

Tasks
(1) Unit Test SRA &4 4
Plan &t SDS 24

DWS T
(2) Test Design | Task 1 NPSOi CHEt
Specification olat
(3) Test Case Task 2 NPSo{| CHEt
Specification o|3al
(4) Test Task 3 Test Code &4
Execution Test Framework

of CHEt ofH

(5) Test Result Task 4 1
Report
(6) ZHEHElof| Task 5 1
Report &

10 Environmental needs
C Language Complier/Linker : GCC
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11 Unit Test deliverables

12 Schedules
Testing tasks &=
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